
1, 

2. 

3 

4, 

The Kingdom of Ballabhgarh was annexed by the1. 

British after the Indian Rcbellion of 1857. Who 

was its last ruler? 
(A) Ajit Singh 

(C) Nahar Singh 
(E) Not attempted 

(A) 16243 5 
(B) 65 23 14 
(C) 235461 

(D) 4 62531 

Select the combination of umbers so that letters|2. 
arranged accordinay will form a meaningful 
word. 

(E) Not attempted 

(A) South-West 

(B) East 

(C) South 

(D) South-East 

You are facing the rising sun early morning. You3. 
turn 90° clockwise, then 45° anti-clockwise. 

Which direction are you facing now ? 

(E) Not attempted 

(A) FWNNBTE 

(B) FWNNCTF 

(C) FWNNCSF 

2956949 

(D) FWNNCRE 

(B) Gopal Singh 

In a certain code, TEACHER" is written as 4. 

VGCEJGT". HowEWould "DULLARD" be 

written in the same çode ? 

(E) Not attempted 

(D) Balram Singh 

K 

A 

6 

&2& 

(A) 4oa fE 

(C) ¬T fz 

N 

(A) 162435 

(B) 65 23 14 
(C) 23 5 4 61 

(D) 462531 

(A) <fguyfy 

90° afyurad, f 45° aTHa qHT·i 3 3I9 f 

(B) y 
(C) <f 

(D) f-q 

f yeHR frar T? 

y fART e H, "TEACHER" "VGCEJGT" 

(A) FWNNBTE 

(B) FWNNCTF 

(B) TqT fe 

(C) FWNNCSF 

6 

(D) FWNNCRE 
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5. 

6. 

7. 

8. 

9. 

D 

Which Article of the Indian Constitution5. facilitated the creation of Haryana as a separate state ? 

(A) Article 239 
(B) Article 3 
(C) Article 1 
(D)) Article 371 
(E) Not attempted 
Under the Haryana Budget 2025-26, how much 6. amount has been allocated for wonmen's welfare under the Lado Lakshmi Yojana ? 
(A) E5,000 crore 

(B) 4,000 crore 
(C) 3,000 crore 
(D) 6,000 crore 
(E) Not attempted 

Which among the following is not 

Constitutional Body in the state of Haryana ? 
(A) Haryana Public Service Commission 
(B) State Election Commission 
(C) State Finance Commission 
(D) Haryana Human Rights Commission 
(E) Not attempted 

architectural style ? 
(A) Indo-Saracenic architecture 

(B) Rajput architecture 

(C) British colonial architecture 

(D) Mughal garden architecture 

(E) Not attempted 

The Pinjore Gardens' (Yadavindra Gardens) in 8, tturn fstt ST (aefazI s) fH 
Haryana are an excellent example of which 

Which of the following Parks/Santuaries in 9. 

Haryana is a Ramsar site ? 

(A) Nahar Wildlife Sanctuary 

(B) Sultanpur National Park 

(C) Abubshahar Wildlife Sanctuary 

a 7. 

(D) Kalesar National Park 

(E) Not attempted 

(A) 4q37 239 

(B) q37 3 

&3 & 

(D) q37 371 

zfurur ge 2025 - 26 

(A) T5,000 6G 

(B) 4,000 IS O) 

(C) E3,000 +0G o 
(D) T6,000 FG 

L 

(A) $3-4ets igheI 

(C) fafe 3tuAAfTH ARHEI 
(D) HTTISA ARqHeTI 

(B) IeT 3 
(C) 44qRIE GGA 3T44Ry 



un's salary is 25% more than Bishnoi's. 10. 
Charan earns 40% less than Arun. Deepak earns 

30% more than Bishnoi. 
By how much is Deepak's salary more than 
Charan's ? 
(A) 53-33% 
(C) 66-67% 
(E) Not attempted 

11. Ifx+ =2, then x + 

D 

X 

(A) 2 (B) 0 
(E) Not attempted 

2 2 

1Z. A solid metal cube of side 14 cm is melted and 12, 
recast into smaller spheress of radius 1 cm. How 
many such spherescaàn be formed ? 
(A) 535 (B) 655 (C) 612 
(E) Not attempted 

(B) 62-25% 

(D) 73-33% 

(C) 5 

(E) Not atempted 

a -b =31, then what is the value of a x b ? 

(D) 6 

(A) 246 (B) 240 (C) 128 (D) 321 
(E) Not attempted 

(A) 25/3 m 

(D) 724 

an 8th boy joins and the average increases by 

1 kg. What is the weight (in kg) of the 8th boy ? 
(A) 62 (B) 56 

(C) 50 m 

(E) Not attempted 

(C) 57 

15. From a point A on the ground, the angle of 

(D) 60 

346UT ET H ft à 

(B) 50/3 m 
(D) 25 m 

46UT 40% 4 GHHIGT y, fayis 30% 

(A) 53:33% 
(C) 66-67% 

&4 & 

(E) 3R AiATBT 

11, f x+- =2, t x + 

13. If 'a' and 'b' are positive integers such that 13, afk 'a' tt b' tHHE quts frà 

(A) 2 

1 

(B) 0 
(E) 3 T0TE 

X 

(A) 535 (B) 655 
(E) 3{ iIEà 

2 

14. The average weight of6 boys is 50 kg. A 7th boy 14. 6g�0 1 BTHT TST 50 fabrturu } | TaiTgaT 
joins and the new �verage increases by 4%. Later, 

25% ATeCi &| U 

14 4t yII AI JrH YIG 4 at T4l 

(A) 62 

(B) 62:25% 

(D) 73:33% 

(C) 5 

a-b=31, t a xb T HH RI? 
(A) 246 

(B) 56 

(C) 612 

(B) 240 (C) 128 

(A) 25/3 m 
(C) 50 m 

(D) 6 

elevation to the top of a vertical tower is 30 15 HH Ry Taç A H, V% 3ta ztHE yts at 

From a point B, which is 50 metres closer to the 
base of the tower from point A, the angle of 
elevation to the top of the tower is 60°, What is 
the height of the tower (in metres) ? 

(D) 724 

(C) 57 

(D) 321 

(D) 60 

(B) 50/3 m 

(D) 25 m 



16. Which of the following policies aims at| 16. =ferfga -4t Af 

transforming rural economy through women-led self-help groups (SHGs) ? 

D 

(A) PM Gati Shakti 
(B) e-SHRAM 
(C) DAY-NRLM 
(D) PM-KUSUM 
(E) Not attempted 

17. Statement I :The Prime Meridian passes through Greenwich. 
Statement II: It is at 0 latitude. 
(A) Both Statement I and Statement I are 

Cofrect. 

(B) Statement I is correct, but Statement II is 
incorrect. 

(C) Both Statement I and Statement II are 
incorrect. 

(D) Statement I is incorrect, but Statement II is 
correct. 

(E) Not attempted 

the appearance of a blue sky ? 
18. Which of the following phenomena best explains 18. Hfefea d -f utHeAT A TI9T 

(A) Wavelength-based scattering of light 
(B) Reflection of ocean colour 
(C) Absorption of ultraviolet rays 
(D) Curvature of the Earth 

(E) Not attempted 

19. India successfully 
international summit in 2024 ? 

(A) BIMSTEC Summit 

(B) SCO Summit 

(C) SAARC Summit 

hosted 

(D) G20 Summit 

(E) Not attempted 

which 

(A) g yfa t (PM Gati Shakti) 

(B) $H (e-SHRAM) 

(C) tyarg-4RÇGIA (DAY-NRLM) 
(D) fis�-H4 (PM-KUSUM) 

|17. HI: JUH 41a aT (YI) 

%%#% 

&5& 

major 19. YRAA 2024 fH SHg sicisiu fIG H fT 

(A) fae (BIMSTB fRrG Hr 
(B) Hi (sco) fRre Hàct 
(C) HI (SAARC) fNGH HATT 
(D) f20 (G20) frat HÀH 



20. A piece of paper is folded and cut as shown in the 20. y AA s t 9 Tpft faTr 37 

Question Figures. From the given Answer 
Figures, indicate how it will appear when opened. 
Question Figures : 

D 

Answer 

(A) 

(B) 

(C) 

(D) 

(E) Not attenipted 

in a manner that no two adjacent faces have the 
same colour. Th¹ cube is then cut into 64 smaller 
cubes. How many cubes have only one face 
coloured red ? 

(A) 24 

(B) 8 

(C) 10 

(D) 6 

21. Six faces of cubé are painted red, blue, and green,21. SE h1ad à cIT, fit, 3t z tT 3A E 

Figured 

(E) Not attempted 

22. Complete the sgries : 
7, 14, 11, 22, 17, 34, ? 

(A) 27 

(B) 20 

(C) 28 

(D) 39 

(E) Not attempted 

3 ATEafrt : 

(A) 

&6& 

(B) 

(C) 

(D) 

(A) 24 
(B) 8 

(C) 10 

(D) 6 

22. ja t fifas: 
7, 14, 11, 22, 17, 34, ? 

{A) 27 

(B) 20 

(C) 28 

(D) 39 



23. Identify the correct par of indigenous cattle|23. breeds that originated in Haryana : 
(A) Sahiwal cow and Banni buffalo 
(B) Gir cow and Jaffarabadi buffalo 
(C) Hariana cow and Murrah buffalo 
(D) Tharparkar cow and Mehsana buffalo 
(E) Not attempted 

D 

2 What percentage of Haryana's geogranhical areal94 ztuur suifs A I T SiARIA H0T 4T 
is covered by the Protected Area network 
(National Parks, Wildlife Sanctuaries, 
Conservation Reserves) ? 
(A) 0-34% 
(B) 1-1% 
(C) 0-75% 
(D) 0-62% 
(E) Not attempted 

system, which of the following statements is 
correct ? 

(A) Only Haryana residents get a Family ID. 
(B) Families outside Haryana get a 9-digit D 

starting with letter T'. 
(C) PPP is mandatory for all residents. 

25. Under Haryana's Parivar Pehchan Patra (PPP)25. zfuv qaR YEH 4a44) yulett T8d, 

(D) Temporary IDs are for migrant workers 

only. 
(E) Not attenpted 

DD 

species in Haryana (and across India) is a 

significant environmental concern, largely 

attributed to the use of Diclofenac in veterinary 

medicine ? 

(A) Cranes 

(B) Peacocks 

(C) Vultures 

(D) Sparrows 

(B) fR 3t GI6{Jt 

26. The decline in the population of which bird 26. AT (3R T MRT ) feH Vt y â HHI 

(E) Not attempted 

(A) 0:34% 

&7& 

(B) 1·1% 

(C) 0-75% 
(D) 0-62% 

(ID) fATt I 

(A) HRH 

(B) HR 
(C) firg 

(D) T 

A %# % 



27. Consider the following statements : 

I. The first nuclear power plant in North India 

D 

1s being built in the Hisar district of 

Haryana. 

I. The Haryana government has removed the 

age limit for the 'Mukhyamantri Kisan 

Evam Khetihar Mazdoor Jeevan Suraksha 

Yojana'. 
II. The 3rd edition of the Saras Aajeevika Mela 

was held in Gurugram. 
Which of the above statements are correct ? 

(A) II and III only 
(B) I, II and III 

(C) I and II only 
(D) I and II only 
(E) Not attempted® 

28. In 2022, Haryana ranked 
Indian states in the Export Preparedness Index. 

(A) 8th 
(B) 4th 

(C) 2nd 

(D) 5th 
(E) Not attempted 

Akademi Award for work in Haryanvi language 
in 1990 for his poetry collection titled "Bire Da 
Viyah" ? 

(A) Jasbir Singh 
(B) Uday Bhanu Hans 
(C) Mewa Ram Gaur 
(D) Gopi Chand Narang 
(E) Not attempted 

constituencies for Scheduled Castes (SCs) in the 
Haryana Vidhan Sabha ? 

29. Which author from Haryana won the Sahitya 29. 1990 34 faT HUg A E" feTs 

(A) 20 

(C) 2 
(E) Not attempted 

(B) 15 

I 

(D) 17 

(A) FT II 3¦T II 
(B) I, II 3it II 

among 28. 2022 , Auia turt yaiH tfUIT MKiT TI0 

&8& 

(C) 
(D) 

(A) 84 
(B) 

30. What is \the curfent number of reserved 30., zfyuT fa THÀHf aut (quf) tes 

aTI 3T II 

(C) 
(D) s 

I 3T III 

(A) Ht feiz 

(B) 3<4 HHBH 

(D) T 

(A) 20 

(C) 2 

(B) 15 

(D) 17 



31. In the following question, find out which of the 
3{ 316pfRt (A), 

Answer Figures (A), (B), (C) and (D) completes the figure matrix. 

D 

Answer Figures : 

(A) 

(C) 

(E) Not attempted 

(Cold) drinks ? 

(A) Do 

(B) 

(C) 

(D) 

? 

(E) Not attempted 

(B) 

(D) 

32. Which of the following diagrams represents the 32. ftefa T-4T34RG TGIÍ, Hâ 3u HE 

relationship among Beverages, Coffee and Soft 

(B), (C) 3t (D) t-t. 

&9& 

3R ATgÍART : 

(A) 

(C) 

(A) Oo 

(B) 

(C) 

oo 

(D) 

(B) 

%%# 

(D) 



33. Anumber is increased by 20%, then decreased by 33. 

30%, and finally increased again by 50%. What 

1s the net percentage change in the number from 

its original value ? 
(A) 0% 

D 

(C) 10% 

(E) Not attempted 

net profit or loss for the shopkeeper ? 
(A) F 16 profit 
(C) F 25 loss 

(E) Not attempted 

34. Selling Price of two items is 120 each. One sold 34. H YG a fAhy H120 

at 25% profit, the other at 25% loss. What is the 

simple interest for 3 years, yields 1,200. If the 
same sum were invested at the same rate of 

compound interest (compounded annually) for 
2 years, it would yield 840. What is the 
principal sum and the rate of interest ? 

(A) Principal :3,800, Rate : 10-5% 
(B) Principal :4,200, Rate:9-5% 
(C) Principal :3,600, Rate : 11·11% 
(D) Principal :4,000, Rate : 10% 
(E) Not attempted 

find h in terms of r. 

(A) 2r 
(C) r 

(B) 26% 

(D) 16% 

(E) Not attempted 

(B) No profit no loss 

+ (D) 16 loss 

(A) 27 seconds 

% 

(C) 18 seconds 

(E) Not atempted 

35. A sum of money, invested at a certain rate of35. e IRT hÌ HIYU yc HId a q 

cross a 280 m long platform ? 

(B) 4r/3 

(D) 3r/2 

t? 
(A) 0% 

(B) 23 seconds 

(C) 10% 

36. A hemisphere and cone have equal volumes. If 36. yã HI 3TT V0F 3ATAGT GUGT· gfe YÍF ft 
the height of the cone is h and radius of both is r. 

(D) 21 seconds 

& 10 & 

(A) F 16 T IH 
(C) F25 â 3I 

? 

(B) 26% 

(D) 16% 

(B) 

(A) 2r 

(C) r 

(D) 

(A) HTYT:*3,800, R: 105% 
(B) HT:4,200, :9-59% 

37. If a train is 180m long and crosses a man in 37. yf 180 t Tt taIst, UE 31TG 9 hs À 
9 seconds, then how long does it take for it to 

(A) 27 hS 
(C) 18 tchs 

(C) HTYH:3,600, «:1111% 
(D) HYT:4,000, T: 10% 

16 f aI 
YT aIA 

(B) 4r/3 

(D) 3r/2 

(B) 23 hS 

(D) 21 4Ás 



38, A factory uses three machines (A, B and C) to 38. produce a specialized type of widget. Machines A and B working together can produce 100 widgets in 4 hours. 
Machines B and C working together can produce 100 widgets in 5 hours. 

D 

Machines A and C working together can produce 100 widgets in 2-5 hours. 
If Machine A were to work alone, how long 
would it take it to produce 100 widgets ? 
(A) 40/9 hours 
(B) 16/3 hours 
(C) S hours 
(D) 45 hours 
(E) Not attempted 

what is the value of 16 @ 10 =? 

(A) 10 

(B) 260 

(C) 9 
(D) 32 

(E) Not attempted 

39. If5 @l=60; 12 @8-200; 16 @ 2 =180; then 39. af 5 @1 = 60; 12 @8 $=200; 16 @2= 180 ; 

six faces. The symbols are dot, circle, triangle, 

square, cross and arrOW. Three different positions 
of the cube are shown in the figures. 

Which symbol is opposite the Square ? 

(A) Cross 

(B) Circle 

(C) Triangle 

(D) Arrow 

4yft-t (A, B N C) AT 344T hft 

(E) Not attempted 

4yÍT A 3it B U HTT AI4 100 faatz 

& 11 & 

100 fate qH HA}I 

af ut A rhet a4 , t 100 fa aTà 

(A) 40/9 
(B) 16/3 2 

(C) sT 

40, A cube has six different symbols drawn over its 40. y# 44 * 38 HTE W 3¿ 4T-34T Y U 

(D) 45 T2 

at 16 @ 10 = HH FYT 

(A) 10 

(B) 260 

(C) 9 

(D) 32 

100 fas 

(A) hrEI 
(B) T 

(D) �t 



41. The "Surya Grahan Mela" (Solar Eclipse Fair) is 41. T�U HET" % 4TGT 3t 48Tdqui 3USRÀ 

a unique and significant event specifically held in 

which pilgrimage site in Haryana when a solar 

eclipse occurs ? 

D 

(A) Jyotisar, Kurukshetra 
(B) Sheikh Chilli's Tomb, Kurukshetra 

(C) Bhishma Kund, Kurukshetra 
(D) Brahma Sarovar, Kurukshetra 

(E) Not attempted 

42. Which of the following statements is correct 42. YIT AT quta0a (4qHH)faE 

regarding recent infrastructure developments in 

Haryana ? 

(A) Rakhigarhi is located on the left bank of 
Palaeo-Channel of Drishadvati. 

(B) Haryana Right to Service Act was passed in 
2016. 

(C) National Highway 152D connects Ambala 
and Narnaul. 

(D) The Eastern Peripheral Expressway passes 
through the city of Hisar. 

(E) Not attempted 

Harshavardhana ? 

43. Which temple in Thanesar served as a prominent43. r4 À aH-HT HT UGT zsat IHTAIT 
religious site during the reign of King 

(A) Amin Bhadrakali Temple 

(B) Sthaneshwara Mahadev Temple 
(C) Vishvamitra Ka Tila Temple 
(D) Pashupatinatha Temple 
(E) Not attempted 

44. Find the odd one out : 

(A) Prism 
(B) Mirror 
(C) Lens 

(D) Window 

(A) R, FoAT 

(E) Not attempted 

(D) Hr, FeAA 

& 12 & 

(C) favaifta drtf 

44. fagH IA IY: 
(A) fA4 
(B) u 

(C) 
(D) fagt 

# %V 



45. Find the odd one out : 
(A) 417 

(C) 153 

(E) Not attempted 

D 

(A) 592 

always leaves a remainder of 8. What is the 
smallest such number that is also greater than 
500 ? 

(C) 608 

46. A certain number, when divided by 15, 20, or 25, 46. qa fAfTTHI ET 15, 20; 25 THIT 

(E) Not attempted 

(A) 156 

(B) 160 

(C) 173 

(D) 165 

(E) Not attempted 

statements: 

P says: "Q is guilty." 

(B) 370 

Q says : "R is guilty." 

(D) 371 

47. lfREAD is coded as 94 (18 x 5 + 1 x 4). how will47. at READ 94 (18 x 5+1 x 4) s i1aA 

MATH be coded ? 

a theft case. They make the following 

R says : "P is innocent." 

(B) 615 

(A) P 

(D) 612 

(B) R 

S says : I am innocent."9 

(E) Not attempted 

If it is known that exactly one of them is guilty, 

and only the guilty person lies (all innocent 

people tell the truth), then who is the guilty one ?| 

(A) 417 

(C) S 

(C) 153 

48. Four individuals �P, Q, Rand S- are, suspects in 48. th-P, Q, R RS-at HHH 

(D) Q 

& 13 & 

s 500 astt? 

(A) 592 

(C) 608 

(A) 156 

(B) 160 

(C) 173 
(D) 165 

(B) 370 

371 

Q hET: "R at» 

(B) 615 

R hET:"p Aais" 

(A) P (B) R 

(D) 612 

%#% V 

%%o 

(C) S (D) Q 



D 

49. Consider the following statements: 
I. Haryana covers 2:34% of the geographical 

area of India. 

I. The governmentchas legalized the shooting 
of female Nilgais] 

III. Lantana camarà pose a significant threat to 
the Haryana fofest ecosystems. 

Which of the above statements is/are correct ? 

(A) II only 
(C) I and II only 

(E) Not attempted 

their locations is incorrect ? 

(A) Central Institute for 

Research on Buffaloes 

(CIRB) 

(B) National Dairf Research 
Institute (NDR! 

(C) Indian Institute 6f 
Management (ËM) 

50. Which of the following pairs of institutions and s0. fA-ffga HTA 3t 34h FÈ I H-T 

(D) Indian Agricukúral 

(E) Not attempted 

(B) II and III only 

M 

(D) I, II and III 

Research Institute (LARI) 

in Haryana are correct ? 

vegetables/spices. 
I. Premium is 7e/acre for 

Options : 

Mukhyamantri Bagwani Bima Yojana (MBBY) 

(A) I, II and III 

Hisar 

(C) II and II only 
(E) Not attempted 

- Karnal 

I. The scheme coNers 46 horticultural crops. 

Rohtak 

Panchkula 

51. Which of the following statements about the 51. sfUTT HGft armar aHI II (QHtatals) 

II. Maximum coipensation is 15,000/acre 
for vegetables/spices. 

49. fAfrfaa aei faa tfr: 

(B) I and II only 
(D) I and III only 

(A) aT II 

& 14 & 

(TÉATEUH) 

{15,000/ehSI 
facaes : 

2:34% M 

(A) I, II sitt III 

(B) hdTII 3T II 

(C) aII 3t III 

(D) I, II R I 

(B) I aT II 



52. The original Indian Constitution had 
Eundamental Rights while it presently has 

Fundamental Rights. 
(A) 7; 8 (B) 8; 7 
(E) Not atempted 

53. A bucket is initially filled 

D 

(C) 7/16 

with water. Then, I/2 of the water currently in the 
bucket is poured out. After this, water equivalent 
to 1/4 of the bucket's total capacity is added. 
Finally, 1/3 of the new total volume of water in 
the bucket is poured out. 

(E) Not attempted 

What fraction of the original buckets total 
capacity is still filled with water? 
(A) 8/42 

(A) 1550 cm 

(C) 1700 cm 

(E) Not attempted 

(C) 6;7 

containers, each with an edge length of 10 cm. 

organizations 

These three cubes are stacked one directly on top 
of the other, forming a single tower. What is the 
outside surface area of this structure ? 

incorrect? 

| to 3/8 of its 

(B) 7/24 

(B) FA0- Rome, Italy 

(D) 7/48 

(D) 7;6 

54. Imagine you have three identical cube-shapeds4. hcI AfU 34 4H AH YHHHH YHGR 

(A) 21 and 28 

(C) 14 and 21 

(A) IAEA- The Hague, Netherlands 

(B) 1500 cm 

(C) UN - New York, USA 

(E) Not attempted 

(D) UNESCO � Paris, France 

(E) Not attempted 

(D) 1800 cm 

and their headquarters 

is possible as values of a and b? 

2 

2 

(D) 7 and 12 

(B) 28 and 42 

(A) 7;8 

55. Which one of the following pairs of international 55. ftfg Y0fu Hatn 34 HA0 

is 

(A) 8/42 

(C) 7/16 

& 15 & 

(B) 8; 7 

2 
(A) 1550 cm 

2 
(C) 1700 cm 

(C) 6; 7 

(B) 7/24 

56. IfLCM (a, b) = 84 and HCF (a, b) =7, which pair56. LCM (a, b) = 84 3 HCF (a. b) = 7 a 

(D) 7/48 

(A) 21 3 28 
(C) 14 3t 21 

(D) 7;6 

(B) 1500 cm 

(A) I`USU (LAEA) �71, tatgH 
(B) 5s34T (FAO) � 4, 3Zeft 

(D) qAa (UNESCO) �tfa, zia 

(D) 1800 cm 
2 

(B) 28 3it 42 

(D) 7 3t12 

6 



57. Which of the following cities was awarded the 57. fHtgd fHH YI Ì 2024 ArAT A zÊ 

2024 "Green Capital of Asia" title? 
(A) Seoul 

(B) Singapore 

D 

(C) Tokyo 
(D) Delhi 

(E) Not attempted 

58. Which of the following statements about India's58. ILT f q3cf gz sHI a AHfa 

first bullet train project are correct ? 

I. It will have 12-stations including Surat, 
Vadodara and Sabarmati. 

I. It includes the construction of India's first 

undersea rail tunnel. 

II. It is expected to reduce travel time between 

Mumbai and Ahmedabad to under three 

hours. 

IV. It is being executed with financial and 
technical assistance from Japan. 

Options : 
(A) I andl only 

(C) II, II and IV only 

(E) Not attempted 

(B) I, II, IIl and IV 

(D) I,II and III only 

(A) There is no change in income distribution 

(B) Higher international trade occurred 
(C) Income inequality has worsened 

59. If a country's Ginicoefficient increases after 59. afa àyatU AT< fARef 2eT A1 frft yuis a¢a , 
globalization, what does it indicate ? 

(D) Poverty levels have decreased uniformly 
(E) Not attempted 

PM CARES Fund registered ? 

(A) Companies Act,2013 
(B) Indian Trusts Ait, 1882 

60. Under which Actwas the Trust Deed of 60. igy s Ât Z ss fH uft 8d 

(C) Societies Registration Act, 1860 

(E) Not attempted 

(A) fArsi 

(B) fng 
(C) dt 

(D) Registration Act, 1908 

(D) t 

& 16 & 

fachet: 

(A) ha I ¦N II (B) I, II, II 30R IV 

(C) dtI, II 3RIV (D) hdt L, II N III 

(B) 3dR 30R00y EHI 

(A) 4t faf4, 2013 
(B) RT R TAAH, 1882 
(C) HI^� ysfcU 3Afefgu, 1860 
(D) uftU 3rffH, 1908 



61. As per the official Haryana Government portal, 61. 

which of the following is not one of the five 
natural geographical divisions of Haryana? 

64. 

(A) Yamuna-Ghaggar Plain 
(B) Aravalli Range 
(C) Bundelkhand Plateau 
(D) Shiwalik Hills 

(E) Not attempted 

(A) Mail Internet Message Extension 

62. What does the acronym "MIME" stand for in the62 eMIME" T 3HY? 
context of email 2 

(B) Multipurpose Internet Mail Extensions 
(C) Mobile Integrated Mail Encapsulation 
(D) Microsoft Internet Messaging Environment 
(E) Not attempted 

I. 1 Gigabyte (GB) is smaller than 1 Terabyte 

63. Which of the following statements about units of 63. 3T URU 5HISUd R Had 

data storage is/are correct ? 

I. 

(TB). 
1 Kilobit (Kb) is equal to 1024 bits. 

II. I Megabit (Mb) is 1/8th of 1 Megabyte 

(MB). 

Options : 
(A) I and IIl only 
(B) II and III only 

(C) I only 
(D) I andII only 
(E) Not attempted 

(A) Faridabad 

(B) Panchkula 

(C) Gurugram 

(A) A4A1-4ur iz4 
(B) 3TGt qdaHcI 

(D) Lahli 

(D) raufeE VgIfgu0 

(E) Not attempted 

& 17 & 

I. 
II. 

1fGI�Z (GB), 1qs (TB)sti 

1 fctfaz (Kb), 1024 [MZH GUGK?I 

II. 1 4AT (Mb), 1 AEZ (MB) #T 1/8af MTT 

fachey: 

The Chaudhary Bansi Lal Cricket Stadium' is 64. "aRT AH0 AIT fhhe fgut atuyr à fa STT 

located in which city of Haryana ? 

(A) at I 3ÌT II 
(B) a I 3t IH 

%0%#% 

(C) hdtI 

(D) I BT II 

(A) 5£laTTG 

(B) agl 
(C) ToATH 
(D) E0 

%% %V 



65. Which of the following Indian cities has a 65. HffaH YRU TH 3JUHfAty ns 

tropical wet and dry (savanna) climate ? 

(A) Shimla 

(C) Shillong 
(E) Not atempted 

66. The "Chhau" dance, 

(A) Manipur 
(B) West Bengal 

origins, is primarily from which Indian state ? 

(C) Assam 

(D) Haryana 
(E) Not attempted 

children 

consent 

2023, which of the following activities is 

prohibited when processing of digital personal 

data of children under the age of 18 years ? 

(A) Providing educational çontent online 

(B) Tracking or behavioural monitoring of 

(C) Collecting personal data with parental 

classification ? 

(A) Wind 

67. Under the Digital Personal Data Protection Act, 67. fs E ST HHU 3TE, 2023 TE 

(D) Storing children's datad encrypted form 

(E) Not attempted 

(C) Temperature 

(B) Bengaluru 

(E) Not attempted 

(D) Srinagar 

Modhera represent? 
(A) Indo-Islamic 

with; fhartial and tribal 66. yaT (4fsfu) t 3fzaIHft T aII IS" RI 

%#% V 

(B) Dravidian 

68. Which of the following is not a factor used to \68. t AGAg rfa TARg avf_a * 
classify climates in the Köppen climate 

(C) Maru-Gurjara 
(D) Kalinga 
(E) Not attempted 

(A) fTHGT 
(C) fMTGT0T 

(B) Moisture 

(D) Vegetation 

o%#%V 

(A) Hforg 
(B) YÍNH GIT 
(C) 3444 

& 18 & 

(D) ¿fUU 

69. Which architectural style dqes the Sun Temple at 69. HTdT AT Y Hfr fH FRrYtt a sett a 

(A) zaT 

(B) gE 
(D) si-K 

(C) AHH 

(A) FT-IAEF 
(B) afag 

(C) 6 
(D) fi 

(B) SAT 

(D) qHft 



70. What is the revised honorarium for the 

Lekhak Samman Puraskar given by the Haryana Sahitya Akademi ? 

D 

(A) 75,000 

(B) 1,00,000 

(C) 25,000 

(D) 50,000 

(E) Not attempted 

71. Which of the following statements is correct 71. 

regarding the history of painting in Haryana ? 
(A) The earliest artistic expressions in Haryana 

were discovered at the Siswal site, featuring 
designs painted on earthenware in black and 
white. 

(B) The Bhadrakali temple in Kurukshetra lacks 
any form of frescoes or murals. 

(C) The Rang Mahal in Pinjore is decorated with 

wall paintings created by British artists 
during colonial times. 

(D) The 'Asthal Bohar' paintings are not found 

in Panchkula and Pinjore. 

(E) Not attempted 

(A) Begum Hazrat Mahal 

(B) Razia Sultana 

(C) Rani Lakshmi Bai 

72. The town of Kaithal in Haryana is historically 72. sRYIUT HT he fdaifE AY f ys 

linked with which famous female warrior ? 

(D) Rani Avantibai 

(E) Not attempted 

(A) F75,000 

& 19 & 

(B) 
1,00,000 

(C) 25,000 

(D) 50,000 

(A) aTH KA HE 

(B) tS yeK 

(D) -ft 3HaTS 



D 

73. Which of the following statements about email| 73. $ U}Àu À aì Affga --HÀ F 

addresses is/are incorrect ? 

I. An email address must contain an 

II. 

symbol. 

An email'address is case-sensitive (e.g.. 

John@example.com is different from 

john@exagple.com). 
I. There can añly be one recipient in the "To" 

field of an thail. 
Options : 

(A) I only 
(B) II and II only 
(C) I and II only 
(D) I, II and III 

(E) Not attempted 

values ? 
%% 

(A) Number Formatting 

(B) Conditional Formatting 
(C) Format Painter 

(D) Cell Styles 

74. Which feature ih Excel allows you to set rules for74. UTÀ4-t efau 314 d 345 4T0 

how cells are formatted based on their 

(E) Not attempted 

(A) Software used to block pop-up 

advertisements 
(B) Data stored on your computer by a website 

(C) A clickabl�pbject that takes you to another 
web resourge 

(D) A prograg used to Secure 

transactions 

(E) Not attempted 

online 

John@example.com, john@example.com 

ferchet: 

& 20 & 

(A) qTI 

(B) h4II 3T III 
(C) haT I 3ÎT II 

75. Which of the following describes a "hyperlink" ?|75. fefad -A JI^Íi" quf aI 

(D) I, II 3N III 

(A) if}T 
(B) hsÌHT 5}T 

(C) si42T 

(D) HT RI^H 



76. 
Despite the thunderstorm, the old man remained 
seated on the porch, staring into the distance. 
Rain lashed the ground around him, but he didn't 

flinch. His eyes, cloudy with age, fixed on 
something far beyond the horizon something only he could see. The storm was loud, but 

whatever echoed in his s mind was louder. 
What can be inferred about the man ? 

(A) He was afraid. 

(B) He didn't notice the stom. 

D 

(C) He was deep in thought. 
(D) He hated the rain. 

(E) Not attempted 
an Rewrite the following sentence in a passive voice. 

Someone is watching us. 
(A) We were being watched by someone. 
(B) We being watched by someone. 
(C) We are being watched by someone.~ 
(D) We are watched by someone. 
(E) Not atempted 

78. Which of the following is correctly spelled ? 
(A) Inevatable 

(C) Inevateble 

(E) Not attempted 
79. Fill in the blank with the correct tense: 

By the time we arrived, the show 

(A) starts 
(C) has started 

(E) Not attempted 

80. In which 

passage? 

sequence should the following 

sentences be arranged to form a cohesive 

I. His parents encouraged him to try again. 

(B) Inevitable 
(D) Inevittable 

II. He failed the mathematics test. v 

Options : 

III, He studied hard for the next one. 

(A) II, I, IV, I 

(B) will start 

IV. Eventually, he passed with good marks. 

(B) II, I, II, IV 

(D) had started 

(C) I, II, II, IV 
(D) II, II, I, IV 
(E) Not attempted 

81. Jdentify which part of the following scntence hae 

an errOr. 

IfI was you 

(1) 
ignore the warning/ 

(A) I 

&21 & 

(III) 

(C) IV 
(E) Not attempted 

(A) To win 
(B) To give up 
(C) To celebrate 

(D) To clean up 

82. Which of the follow best describes the phrase 

Throw in the towel" ? 

(E) Not attempted 

Speech : 
83. Change the following sentence into Direct 

She asked me ifI was fine. 

(A) Vague 
(B) Unclear 

(B) She asked, �Am I fine ?" 

(C) Obscure 

I would not/ 

(A) She asked me, �Are you fine ?". 

(D) Definite 

(E) Not attempted 

at any cost. 

-{C) She said, �Are you fine ?" 

(D) She asked, "Was I fine ?" 

(E) Not attempted 

84. What is the antonym of Ambiguous" ? 

(I) 

(A) Bilingual 

(B) II 

(B) Monoglot 

(IV) 

(D) III 

(C) Translator 
(D) Polyglot 

85. Which of the following describes a person who 
speaks many languages ? 

(E) Not attempted 



D 

86. ffrfga 
(A) �a (B) GT (C) faceft (D) TH� 

(A) GIE AHI 

(A) IR 
() TAITt 

sisr yo?: 

(C) 1H-H4 

90. fffe 4a HHH: 
(A) FUE 

Afy: 

(D) G 

(B) Ae 
(D) ifa 

(D) 34+ T HoeY HT ? 

(A) F, (B) 7,� 

(B) IAiGA 
(D) 449c1 

(C) 4,s (D),� 

(B) A- 4H9; 3AA-HT 
(C) yd4-J4T: YIqH-44fE 
(D) 4T-A; H42�raT 

(A) TH+ 
(C) N4 + ht 

& 22 & 

(A) SrUefs arT 
(C) faHyE AIT 
(E) 3 T0E 

(A) HT 

96. fA-fafgifaart Jog : 

() HqayE 

(A) 4qNIH 
(C) FoY 

(B) T 

97. fAeifea otàà-H fAYTA 
(A) aft 

(B) 4, 0NT, HG, q3 

(B) I{ + t 

(D) AH, 4g, 19, 4H 

(D) NH + h 

(A) JeT (B) TT 

(B) faTTG AIG 
(D) 4GETej AT 

(B) fa0guT 

(D) fT 

(C) 

(B) 3teT 
(D) 44 

(C) qef 

? 
(D) t 

(D) HTT 
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